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The ‘Empire’ computer virus is of this type
1. File Destroyer

2 Trojan Horse

3. Boot Sector Virus
4

Time Bomb

The following principle of development is implied if the child
“utters babbling sounds before saying different words”.

1. Principle of proceeding from general to specific
responses
2. Principle of interrelationships

Principle of individual differences

4. Principle of continuous development

A person’s height, weight, eye colour, skin etc.,. are due to the
influence of these factors of growth

1. Emotional

2 Environmental
3. Hereditary
4

Social

In this stage the emotions are in relation to concrete objects
and are temporary

1. Early childhood stage

2 Later childhood stage

3. Early Adolescence stage
4 Puberty stage



The period that starts immediately after the child contacts the
environment is

1.

2.
3.
4

Puberty
early childhood
Infancy period

Pre-natal period

The moral development stage where the individual conforms
to accepted laws of society is

1.

2.
3.
4

Pre conventional morality
Conventional morality
Post conventional morality

Non-conventional morality

The ‘psychoanalytic’ theory of development has been largely

derived from the works of

1.

2.
3.
4

Sigmund Freud
Ivan Pavlov
Jean Piaget

Feldman

One of the following is not the part of the five components of
emotional intelligence as per Golman’s view

1.

2.
3.
4

Emotional self — awareness
Self — regulation
Empathy

External Motivation
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11.

12.

Variations within the individual are called
1. Intra-individual differences
2 Inter individual differences
3. Physiological differences
4

Psychological differences

The group factor theory of intelligence was proposed by

1. Thurstone
2 Thorndike
3. Binet

4 Spearman

Intelligence Quotient (I.Q) of an average intelligent person
1. 111 -120

2. 91-110
3. 121 - 140
4 141 - 150

The fourth stage of the process of creativity as mentioned by
G. Wallas is

1. Preparation stage
2. Verification stage
3. Incubation stage
4. [llumination stage
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16.

One of the following is not true with regard to ‘value’

1.
2.

Value is an inspiration that guides steadily towards aim

Values are established through the individuals life
experiences

‘Value’ helps to make sure about the selection of the
way of life.

Value does not influence the decisions taken by the
people.

This is not the nature of ‘thinking’

1.

2
3.
4

A goal directed process
A symbolic concept
Has problem solving nature

Audible mental communication

“Reasoning is the step wise thinking with a purpose or goal in
mind”, this definition is given by

1.

2
3.
4

Garrett
Descartes
Wallace
Binet

The following factor related to teacher most influences the
school children

1.

2
3.
4

age

status
personality
height



One of the following is not the characteristic of personality

1. Stable but not stagnant

2 Can be assessed

3. Forms through learning and experiences
4 A set of few traits

This is not a characteristic feature of ‘Phlegmatic’ personality
1. Being slow and lazy

2 Being emotionally strong

3. Being physically weak

4 Highly Sociable

One of the following is not true with regard to the mental
health of the students

l. accepts himself
2. maintains a balance between his instincts and his
conscience

accepts the realities of life

4, maintains maximum friction and tension

If a choice has to be made between two attractive goals the
type of conflict that formed is

1. Approach - Approach

2 Approach - avoidance

3. Double approach - avoidance
4

Avoidance - Avoidance

Defense mechanisms are explained by
1. Sigmund Freud

2 Levin
3. Allport
4 Cattell
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23.

24.

25.

‘Introspection method’ is useful to

1. Study interpersonal relationship
2. Study the social behaviour

3. Study the behaviour of thyself
4. Interpret the behaviour of other

One of the following is not correct with respect to ‘learning’

1. The power of reasoning enables a man to learn quickly
2 Learning is a process, not a product

3. Learning is a relatively temporary change in behaviour
4 Learning involves weakening incorrect responses

“Attention span” is

1. A person’s concentration degree
2. A number of objects a person can clearly perceive
at a time.

Duration of voluntary attention

4. To pick certain objects out of a wide object range.

Giving meaning to the things that reach us with the help of
senses is known as

1. Attention
2 Learning
3. Perception
4

Motivation



26.

27.

28.

29.

The first step in the memory process
1. Recall

2 Retention

3. Learning

4 Recognition

Type of transfer, when a person who plays Baseball wants to
learn cricket is

1. Negative transfer
2 Zero transfer

3. Vertical transfer
4

Positive transfer

When the response leads to a pleasing experience, the
connection between stimulus and response is strengthened.
This is according to the Thorndike’s law of

1. Exercise
2 Effect

3. Readiness
4 Insight

“These leaders take the decisions through consultation and
feedback.” This type of leadership is

l. Participative
2 Directive

3. Permissive
4 Submissive



“Educational guidance is intended to aid the individual in
choosing an appropriate programme and making progress of
it.” This definition is by

1 Ruth Strong
2 James A.J

3. L.M. Miller
4

Dunsmoor
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Read the following passage carefully:

The door creaked open slowly, revealing a dark room filled
with ancient artifacts, untouched for centuries.

What is unusual about the room?
Choose your answer from the following.

1. It is brightly lit.

2 It is filled with modern technology.
3. It contains ancient artifacts.
4

It has been recently cleaned.

Read the following passage carefully:

The old library was known for one thing; no book ever left its
shelves without being returned in worse condition than when it
was borrowed.

What is strange about the library? Choose your answer from
the following.

1. The books are always returned in poor condition.
2 Books disappear mysteriously.

3. The library is always empty.
4

People avoid borrowing books.

Read the following poem carefully:

The first light breaks across the sky,
Painting clouds in hues so high.

A new day dawns with whispered cheer,
Bringing hope to all who hear.

What does "the first light" symbolize in the poem?
1. A sunset

2. The end of a journey.

3. A hidden danger.

4 The beginning of a new day.



Read the following poem carefully:

Beneath the waves, the ocean hums,
Singing songs of distant drums.
In its depths, a world unknown,
Where secrets wait, carved in stone.

What do the waves symbolize? Choose your answer from the
following.

1. Challenges in life.

2 Stories from the past.
3. Modern-day events.
4

Nature's beauty.

During a conversation, a coworker says:

"I’m thinking about taking a vacation, but I haven’t decided
yet. It depends on how much work I get done."

What does the speaker mean? Choose your answer from the
following.

1. They are definitely going on vacation.

2 They won’t take a vacation at all.

3. They have already planned their vacation.
4

They are unsure if they will take a vacation depending
on their workload.

During a podcast, the host says:

"If we had launched the product earlier, we could have
captured a larger market share."

What does the speaker imply? Choose your answer from the
following.

1. They regret not launching the product sooner.

2 The product was successful despite the late launch.
3. The product was launched on time.

4 The product failed due to its early launch.



You overhear a manager say:

"The new training program was designed to boost
productivity, but it’s causing confusion among the team."

Identify the manager’s opinion about the training program:
1. They think the program is effective.

2 The program has been a great success.

3. They find the program confusing and disruptive.

4

They have no strong opinion about the program.

Imagine you are Amit. You’re at a conference and want to ask
a speaker a question.

What is the best approach? Choose your answer from the
following.

1. "I have no idea what you were talking about."

2. "Hi, my name is Amit. Could I ask a question about
your presentation?"

"Can you summarize everything again? I didn’t get it."

4. "You didn’t explain anything properly, can you
clarify?"

During a meeting, you want to offer a suggestion.

Identify the best way to introduce your suggestion:

l. "Could I offer an alternative idea for consideration?"

2 "I have a suggestion, but it might be bad."

3. "This suggestion will fix everything."

4 "I don’t think anyone else has any good ideas, so here’s

mine."



In a product review, you read:

"The laptop’s design is sleek, but its battery life is
disappointing."

The review suggests the following about the laptop.

1. The laptop has a great battery life but is poorly
designed.

2. The laptop looks good but has poor battery life.
The laptop’s design and battery life are both excellent.
4. The laptop is functional but not visually appealing.

You read in a job posting:

"Applicants must be skilled in graphic design, and experience
with video editing is a plus."

What is essential for the job? Choose your answer from the
following.

1. Video editing experience.

2 A degree in graphic design.

3. Knowledge of web development.
4 Graphic design skills.

A research study abstract states:

"This research examines the effects of social media on youth
self-esteem, highlighting both positive connections and
negative impacts on mental health."

What is one of the negative impacts mentioned in the study?
Choose your answer from the following.

1. Social media enhances self-esteem.

2 Social media has no effect on self-esteem.

3. Social media negatively affects youth mental health.
4

Social media improves mental health.



13.

14.

15.

A contract states:

"Failure to meet deadlines will result in penalties, and the
client reserves the right to cancel the contract if expectations
are not met."

What happens if deadlines are missed?

1.

2.
3.
4

The contract will automatically renew.
The client will immediately cancel the contract.
The client will extend the deadline.

The client will impose penalties.

You are organizing a research paper.

What is the best way to structure it? Choose your answer from
the following.

1.

Begin with an introduction, present the methodology,
and conclude with results.

Start with the conclusion, then introduce the research
question.

List all results in random order, and summarize in the
introduction.

Provide no clear structure but include all points.

You are writing an argumentative essay on climate change.

What is the best way to support your argument? Choose your
answer from the following.

l.

"Climate change is happening because I read it
somewhere."

"Climate change is proven by scientific studies and
evidence showing rising temperatures."

"Some people don’t believe in climate change, so I
don’t need to argue."

"Climate change is important because I say so."



16.

17.

18.

19.

20.

Identify an example of palatalization.

1.
2.

4.

The omission of a vowel in "family."

The addition of a sound in "athlete" pronounced as
"ath-e-lete."

The /s/ in "street" pronounced as /s/.

The change of a vowel sound in "cat" to "cot."

What does pitch accent refer to? Choose your answer from the
following.

1.

2.
3.
4

The omission of sounds in connected speech.
The process of changing sounds due to nearby sounds.
The replacement of one vowel with another.

The emphasis on certain words through pitch.

Identify the feature of assimilation.

1.

2.
3.
4

Two words that differ by one phoneme.
A sound becomes more like a neighbouring sound.
A vowel sound is dropped in unstressed syllables.

The replacement of one sound with a completely
different one.

Identify the derivational morpheme from the following:

1.

2.
3.
4

"-ed" in "walked"
"-ing" in "running"
"-er" in "runner"

"book" in "bookstore"

Which of the following is an example of blending?

Choose your answer from the following.

1.

2
3.
4

"Unknown" (from "know" + "un-")
"Running" (from "run")
"Football" (from "foot" + "ball")

"Brunch" (from "breakfast" + "lunch")



21.

22.

23.

24.

25.

The process of changing the word class without changing the
form is called:

1. Conversion

2 Compounding
3. Affixation

4 Reduplication

Identify the sentence with an indirect object:
1. "He is reading a novel."

2 "She gave him a book."

3. "They elected him the leader."

4 "The book is on the table."

Lexical semantics focuses on:

1. The meaning of individual words.
2 The sound systems of language.
3. How meaning changes in context.
4 The structure of sentences.

Identify the sentence that demonstrates polysemy:

1. "The book is on the shelf."

2 "I love cats."

3. "She has a sharp mind and a sharp knife."
4 "He is reading a novel."

The performative function of communication involves:
1. Describing events.

2. Accomplishing something by saying it (e.g., making a
promise).

Expressing emotions.

4. Sharing factual information.



26.

27.

28.

29.

The following is an example of the persuasive function of
communication.

1.

2.
3.
4

Reporting on an event.
Expressing personal feelings.
Asking a question.

Giving advice or making a suggestion.

During a sales pitch, you share a success story to convince the
audience of your product’s value.

Identify the purpose of this communication:

1.

2.
3.
4

To inform.
To persuade.
To entertain.

To express emotions.

In an interview, you are asked to describe a time when you
worked under pressure.

Identify the interviewer’s main goal.

1.

2.
3.
4

To evaluate your stress management skills.
To share information about the job.
To build rapport with you.

To entertain you with stories.

When we visited our childhood home, we couldn’t help but
throw our mind back to the days we spent playing in the
garden.

Identify the meaning of the idiom ‘throw our mind back’ in the
sentence above.

1.

2
3.
4

Plan for the future.
Forget about old memories.
Avoid thinking about the past.

Recall a past event.



30.

A friend says, "I haven’t finished my homework, but the game
was amazing last night!"

What is the friend likely implying? Choose your answer from
the following.

1.
2.
3.

They didn’t enjoy the game.
They did their homework while watching the game.

They didn’t do their homework because they were too
busy with the game.

They are proud of their homework.



Language -2  ENGLISH

Albert Einstein was born on 14 March 1879 in the German
city of Ulm, without any indication that he was destined for
greatness.

The word ‘destined’ means the same as:

1.

2.
3.
4

uncertain
meant
avoidable

accidental

Tommy screamed with laughter. You don’t know much,

Margie.

Identify the antonym of ‘screamed’ in the context of the
sentence:

1. agreed

2 ignored

3. whispered

4 over looked

The report by the manager yesterday.
Identify the best option that fits the blank.

1.

2
3.
4

is completed
was completed
completes

has completed



Choose the correct prefix for the word ‘happy’ to mean ‘not
happy’.

1.

2.
3.
4

pre -
un -
re -

dis -

When Jane said she was feeling under the weather, we all
knew she was sick.

In the above sentence, ‘under the weather’ means .....

1.

2.
3.
4

being outside in the rain
observing the weather
being surprised

being unwell

The following is not a meaning of “call off”

1.

2.
3.
4

to cancel
to begin
to postpone

to end

Choose the word that would appear first in a dictionary that
uses alphabetical order: ‘Manufacture’ or ‘Manuscript.’

1.

2.
3.
4

Manufacture
Manuscript
Both words are listed equally

The order depends on context.



10.

11.

12.

Identify the correct use of commas in a large number

1.

2.
3.
4

100,0
1,000
10,00
100,00

Because of the rain, we decided to stay back home.

Identify the correct transformation of the simple sentence into
a complex sentence.

1.

2.
3.
4

We decided to stay back home, although it was raining.
Since it was raining, we decided to stay back home.
We decided to stay back home and it was raining.

Though it was raining, we decided to stay back home.

Identify the grammatically correct sentence:

1.

2.
3.
4

Smith likes Maths more then English

Smith likes Maths more than he likes English
Smith likes Maths more than English does.
Smith likes Maths more than English does he.

Select the transactional function example.

1.

2.
3.
4

I would like to buy this shirt.
What a sunny day!
She is studying for exams.

Please be quiet.

Identify the correct spelling of the word.

1.

2.
3.
4

arithamatic
arithematic
arithmatic

arithmetic



13.

14.

15.

16.

Identify the correct transformation of the sentence into
reported speech.

She said, “I am very poor”.

1. She said that she was very poor.

2 She said that she has been very poor.
3. She said that I was very poor.

4 She said that I am very poor.

I appreciate my mom buying me all that I need when I need
them.

Choose the correct function of the noun clause:
1. subject

2 object of a preposition

3. direct object
4

indirect object.

Choose the term that refers to the killing of one’s brother.
1. Fratricide

2 Matricide

3. Uxoricide

4 Regicide

Nouns like ‘news’, ‘scissors’ and ‘mathematics’ are
considered by default.

Choose the option that fits the blank.

1. singular
2 dual

3. plural

4 multiple



Identify the interrogative sentence among these:
1. She is a great dancer.

2 Please pass the dictionary.

3. What time does the show start?
4

How beautiful this place is!

The presentation was well organized and informative
it was engaging.

Choose the linker that fits the blank.

1. Nevertheless
2 Therefore

3. For instance
4 Although

Choose the correct usage of the definite article before plural
proper names:

1. The earth moves round the sun
2. The lion is ferocious

3. The Johnsons
4

The book on the table is not mine

He run five miles every morning when he was
younger.

Choose the modal verb to indicate a past habitual action.

1. would
2 will

3. should
4 might



21.

22.

23.

24.

She likes to read, she also enjoys painting.

Identify the correct use of a coordinating conjunction that fits
the sentence.

1. or
2 N
3. and
4 nor

Identify the correct sentence with a correlative conjunction.
1. Both she with her friend went to the party.

2 Either you or your friend has to come.

3. Neither the cat or the dog was happy.
4

Not only he is smart but also funny.

When writing about your days, it is helpful to include
Choose the best option that fits the blank.

1. a list of goals for tomorrow.

2. key events and conversations

3. a detailed plan for the weekend.
4. your favorite quotes.

An invitation should include to let guests know how to
confirm their attendance.

1. a brief summary of the event

2 the event’s dress code

3. a list of attendees

4 RSVP information (respond please)



25.

26.

27.

28.

Identify the sentence in the present perfect tense:
1. She is cooking dinner.

2 They have travelled to Japan.

3. He will finish his homework.
4

I was reading a book.

Choose the correct definition of the present perfect continuous
tense.

1. An action that started and finished in the past.
2 An action that will happen in the future.

3. An action that happens regularly.
4

An action that started in the past and is still continuing

They chose tea coffee.
Choose the option that fits the blank.
1. in regard to

2. instead of

3. in back of
4

in charge of

the circumstances, they decided to wait.
Choose the preposition that fits the blank.
1. In view of
2 In case of
3. In back of
4

In process of



29.

30.

Read the following passage.

Environmental problems in India, such as air and water
pollution, deforestation, and waste management, have
significant impacts on public health and quality of life. Rapid
urbanization and industrialization contribute to these issues.
Government and community efforts are focused on
sustainability and environmental conservation, but addressing
these challenges requires continued commitment and action.

Identify the environmental issue associated with rapid
urbanization:

1. improved water quality.

2 decreased pollution.

3. increased air and water pollution.
4 enhanced green spaces.

Read the following passage.

Environmental problems in India, such as air and water
pollution, deforestation, and waste management, have
significant impacts on public health and quality of life. Rapid
urbanization and industrialization contribute to these issues.
Government and community efforts are focused on
sustainability and environmental conservation, but addressing
these challenges requires continued commitment and action.

Addressing environmental problems requires
commitment and action.

Choose the option that fits the blank.

1. minimal

2 short-term
3. temporary
4

continued



ENGLISH _ Content & Methodology

Identify the phrasal verb that can be used in the blank of the
sentence.

They need to the old files to make space for new
ones.

1. get rid of
2. bring of
3. hold on
4

take over.

To keep her fingers crossed for the job interview, she made a
wish before going in.

Identify the meaning of ‘keep your fingers crossed’ in the
sentence above.

1. to hope for a positive outcome

2 to physically cross your fingers
3. to prepare for failure
4

to make a wish

10 years not considered optimum to go on the
water slide.

Choose the best option that fits the blank.

1. are
2. is

3. be

4 were



Identify the word that would come last in a dictionary section
that contains words starting with ‘Pro’.

1. Procrastinate
2 Procedure

3. Proficient
4

Production

Select the sentence where the definite article is used before the
names of newspapers and magazines.

1. The Times of India

2 The World Health Organisation
3. I found a newspaper on the table
4

The more you read, the more you know

Choose the correct type of conditional sentence.

If I were a bird, I would happily fly around the world.
1. Zero Conditional

2 First Conditional

3. Second Conditional

4 Third Conditional

Identify the best option that fits the blank.

The report to the committee by the end of the week
if all goes as planned.

1. has submitted
2 will be submitted
3. submitted
4

is submitting



10.

11.

Identify the suffix used to describe ‘somewhat like’.

1.
2
3.
4

The following dictionary skill helps you understand the origin

- ish
- ity
- yer

- ist

and historical development of a word.

1.

2.
3.
4

Phonetic symbols
Word usage notes
Etymology
Alphabetical order

Rina is more intelligent than Tina.

Identify the positive degree of the sentence.

1.

2.
3.
4

Tina is not so intelligent as Rina.
Tina was not so intelligent as Rina
Rina is not as intelligent as Tina

Rina is as intelligent as well as Tina.

Identify the sentence with the correct question tag.

1.
2.

One of the boys is going to the concert, is he?

Two of the girls have completed their assignment,
haven’t they?

Somebody should know the answer, don’t they?

One of the boys likes soccer, does he?



Identify the proverb which conveys the idea that one should
not rush or take shortcuts to achieve success.

1. Haste makes waste.

2 A bird in the hand is worth two in the bush.
3. Better safe than sorry.
4

You reap what you sow.

The bright red sign was highly conspicuous against the dull
grey walls of the building.

Identify the synonym of the word ‘conspicuous’ in the context.
1. hidden

2 noticeable
3. subtle

4 straight

Her approach of organising the event was extremely
meticulous, leaving no details overlooked.

Identify the opposite of the word ‘meticulous’ in the context

1. thorough
2 careful
3. careless
4 precise

Identify the grammatically correct sentence.
1. Ask him to sit besides me.

2 Ask him to sit beside me.

3. Ask him to sit beside to me.
4

Ask him to sit besides to with me.



16.

17.

18.

19.

Gita said, “I’ll do the report by Friday, for sure”.

Choose the reported speech of the sentence.

1.
2.

Gita promised to do the report by Friday.

She acknowledged that she would do the report by
Friday.

Gita asked to do the report by Friday.

She said to me that I would do the report by Friday
surely.

Identify the first step in crafting a compelling and natural
sounding conversation.

1.

2
3.
4

Establish the setting.
Understand your characters
Start with a hook

Revise and edit

The lead of a news report includes the following.

1.
2.
3.

The conclusion of the story.
Background context and supporting information

The most critical information (the who, what, when,
where, why and how)

Quotes from multiple sources.

Select the transactional function example.

1.

2
3.
4

What a beautiful flower!
She is writing an essay.
Please sit down.

Do you offer any discount for this shirt?



20.

21.

22.

23.

The instructions were not clear. , many people
had trouble following them.

1.

2.
3.
4

For example
Though
Despite

Hence

Identify the modal verb used to express an action that has been
required in the past.

I

have completed the task by now.

1
2.
3.
4

can
shall
should

might

Identify the term for a person who is excessively romantic and

impractical

1. Pragmatic
2. Realist

3. Cynic

4 Quixotic

As the sun began to set, the soft light of the evening sky made
her decide to light a lantern, revealing the light footsteps left in
the sand.

The word ‘light’ in the above sentence is used as
respectively.

1.

2.
3.
4

a noun, a verb, and an adjective
a verb, a noun, and an adjective
an adjective, a noun, and a verb

a noun, an adjective, and a verb



24.

25.

26.

27.

Identify the sentence in which the word ‘book’ is used as a
noun.

1. I need to book a flight.

2 She decided to book a conference room for the meeting.
3. No book is found on the table.

4 They will book a table at the restaurant.

She did not study hard enough, and because of that, she did
not pass the exam.

Identify the meaning of the sentence above.

1. If she had studied hard enough, she would have passed
the exam.

2. If she studied hard, she would pass the exam.
If she studies hard enough, she will pass the exam.

4. If she can pass the exam, she would study hard.

Identify the example of a complex sentence.
1. She reads books and he writes books.
2 She reads books because she loves stories.
3. She reads books every day.
4

She writes books and reads them.

Identify the phrase that refers to ‘pitch’ in phonetics.
1. The loudness of a sound

2 The frequency of a sound

3. The duration of a sound.
4

The place of articulation



28.

29.

30.

Identify the term that describes a sound that is produced by
touching the lower lip to the upper teeth.

1. Lateral consonant
2 Labiodental sound
3. Plosive

4 Glottal stop

Read the following passage.

"The ancient oak stood silent witness to centuries of change.
Its gnarled branches, though weathered by countless storms,
continued to reach skyward. Beneath its expansive canopy, the
forest floor remained a mosaic of shifting shadows and light.
Yet, despite its enduring presence, the oak's fate hung
precariously in the balance."

The primary focus of the passage is on .....
1. The Oak tree’s role in the ecosystem
2 The passage of time and the Oak tree’s endurance
3. The effects of storms on the oak tree
4

The Oak tree’s interaction with wild life.

Read the following passage.

"The ancient oak stood silent witness to centuries of change.
Its gnarled branches, though weathered by countless storms,
continued to reach skyward. Beneath its expansive canopy, the
forest floor remained a mosaic of shifting shadows and light.
Yet, despite its enduring presence, the oak's fate hung
precariously in the balance."

In the passage, the oak tree is described ....
1. as a young, healthy tree

2 as an ancient and weathered tree.

3. as a newly planted tree
4

as a tree undergoing rapid growth



31.

32.

33.

34.

Choose the insignificant change in the lawyer’s perspective
during his time in solitary confinement. (The Bet)

1. He becomes increasingly focused on accumulating
wealth.
2. He grows to believe that material wealth is worthless

and renounces the prize money.
He decides to escape and seek revenge on the banker.

4. He grows to hate the banker and refuses to accept any
money.

Choose the type of irony that is present when bureaucratic
process in ‘The Engine Trouble’ leads to humorous and
ineffective outcomes

1. Verbal irony

2 Dramatic irony
3. Situational irony
4

Cosmic irony

Identify the character who becomes romantically involved
with Miss Prism by the end of the play. (The Importance of
Being Earnest)

1. Rev. Canon Chasuble
2 Jack Worthing

3. Algernon Moncrieff
4 Dr. Chasuble

Choose the thematic significance of the characters’ use of false
identities in the play. (The Importance of Being Earnest)

l. All highlights the importance of true friendship

2. It underscores the absurdity of societal expectations and
norms

It demonstrates the need for financial security.

4. It emphasises the characters’ desire for adventure.



35.

36.

37.

38.

Identify the role of Feste in the play’s commentary on social
dynamics. (Twelfth Night)

1.
2.

He serves as a foil to the main characters.

He provides comic relief and insightful observations
through his foolery.

He manipulates other character for personal gain.

He is a secondary romantic interest in the plot.

Choose the primary source of conflict between Olivia and
Viola in the play, ‘Twelfth Night’.

1.

2.
3.
4

A misunderstanding about Cesario’s true identity
Rivalry over Orsino’s affection
A financial dispute

A disagreement about social status

Choose the theme explored through the trial of Tom Robinson
(To Kill a Mocking bird)

1.

2.
3.
4

The simplicity of rural life.
The joy of community events
The benefits of technology

Racial injustice and prejudice

Identify the perspective from which the novel ‘To Kill a
Mockingbird’ is narrated.

l.

2.
3.
4

First-person perspective of Atticus Finch.
Third-person omniscient narrator
Third-person limited perspective of Jem Finch.

First-person perspective of Scout Finch.



39.

40.

41.

42.

Choose the theme that ‘Animal Farm’ primarily explores
through the rise of the pigs.

1.

2.
3.
4

The benefits of democracy
The joy of farm life.
the advantages of technology.

The cycle of oppression and corruption.

Choose the outcome of the animals’ rebellion in ‘Animal

Farm’.
1.

They return to a pre-revolutionary state with no
changes.

They establish a fair and just society.
They improve their conditions and achieve quality.

Their new leaders become indistinguishable from the
old oppressors.

Identify Bacon’s warning about the consequences of excessive
study. (Of Studies)

1.

2
3.
4

It leads to greater personal joy.
It results in ineffective practical affairs.
It improves social interactions.

It helps with decision-making.

Identify the role of leadership in nation-building according to
Rajagopalachari. (What Makes a Nation)

1.

2.
3.
4

Leadership is not essential for nation-building.
Leadership only focuses on economic policies.
Leadership is mainly concerned with foreign relations

Effective leadership provides clear vision and inspires
citizens



43.

44,

45.

46.

Choose the literary genre that parodies the epic form by
applying its grand style to trivial subjects.

1.

2.
3.
4

Lyric
Sonnet
Tragedy
Mock Epic

Choose the structure of the poem’ Where the Mind is without

Fear’.
1.

2.
3.
4

Sonnet
Free verse
Limerick
Haiku

Identify the main theme of Wordsworth’s poem ‘A Slumber
Did my Spirit Seal’.

1.

2.
3.
4

Romantic love
Urban life
Death and immortality

Political revolution

Identify the ability to understand and share the feelings of
another person, often evoked in literature to create emotional

connections.

1. Sympathy
2. Compassion
3. Empathy

4 Nostalgia



47.

48.

49.

50.

Choose the type of drama that emphasizes exaggerated,
improbable situations and relies heavily on physical humour.

1.

2
3.
4

Melodrama
Tragedy
Farce

Comedy

Identify the poetic form with a strict pattern of 19 lines,
including five tercets and a quatrain, with a specific rhyme
scheme and repeating lines.

1.

2.
3.
4

Free verse
Villanelle
Sestina
Ballad

Identify the sub-skill of speaking that involves organising

thoughts logically
1. Articulation
2. Vocabulary
3. Grammar

4 Coherence

Identify a learning outcome that represents a desired condition
in English language teaching.

l.

2.
3.
4

Writing incoherent pieces
Developing aesthetic sensibility and appreciation
Avoiding creative expression

Ignoring diverse language abilities.



51.

52.

53.

54.

Identify the stage of teaching reading that involves interaction

based on a displayed material

1.

2.
3.
4

The following involves guessing the meaning of unknown

Pre-reading
While-reading
Post-reading

Transactional reading.

words or phrases.

1.

2.
3.
4

Identify a component of the skill of probing questions.
1.

2.
3.
4

Identify the activity to develop reading skills that involves

Focused listening
Sub-skills of listening
Appreciative listening

Techniques for teaching speaking

Prompting
Guessing

Ignoring
Assuming

interpreting pictures, maps and graphs

1.

2.
3.
4

Auto-generated reading.
Role play reading
Visual reading

Library reading



55.

56.

57.

58.

Identify the statement that best describes Steven Pinker’s view
on language acquisition in children.

1.
2.
3.

Children require formal teaching to acquire language.
Children acquire language through structured lessons.

Children acquire language quickly, easily and without
formal teaching.

Children learn language mainly through reading.

Identify the hypothesis by Krashen that explains how learners
use their acquired knowledge to self-monitor their language

production.

1. Input Hypothesis

2. Natural order Hypothesis
3. Affective Filter Hypothesis
4 Monitor Hypothesis

The ‘end-means’ approach in curriculum construction is

proposed by:

1. John Dewey

2 R.W. Tyler

3. Benjamin Bloom
4 Howard Gardner

Identify a strategy used in remedial teaching.

1.

2.
3.
4

Group projects
Individualised Educational Programme
Standardised testing progression

Lectures



59.

60.

Choose the best option that fits the blank.

In the approach, the course material is broken
into independent, non-linear units, with each module being
complete in itself.

1. Spiral

2 Modular
3. Linear
4 Matrices

Identify the aspect of curriculum design that refers to the
logical progression and development of content across grades.

1. Vertical articulation

2 Horizontal articulation
3. Integration
4

Un unified scope
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